

LETTERMARK™ PREMIUM COPY

Domtar

- Available in 20 lb. and 24 lb. basis weights
- Available in all office sizes
- 96 TAPPI/98 ISO brightness with an attractive blue white shade
- Features ColorLok® Technology for bolder blacks and vivid colors with inkjet printing and better quality and performance with laser printing
- · Guaranteed to perform on laser printers, desktop inkjet printers and copiers
- Made in North America

Product Code	Size (in)	Weight (lbs)	Sheet/case	Caliper (pts)	Brightness	Opacity	Certification
566093	8.5 x 11	24#	5,000	4.6	96	92	SFI
566191	8.5 x 14	24#	5,000	4.6	96	92	SFI
566192	11 x 17	24#	2,500	4.6	96	92	SFI

LETTERMARK™ COLORS MULTIPURPOSE

Domtar

- 12 colors including britewhite, cream and pastels
- SFI Certified
- Contains 30% post-consumer recycled content (multipurpose only)
- · Laser and inkiet quaranteed
- Acid free
- Made in the USA



Product Code	Size (in)	Weight (lbs)	Caliper (pts)	Colour	Certification
566091	8.5 x 11	20#	4	Blue	SFI Certified
566094	8.5 x 11	20#	4	Canary	
566108	8.5 x 11	20#	4	Green	
566115	8.5 x 11	20#	4	Pink	
566105	8.5 x 11	20#	4	Goldenrod	
566107	8.5 x 11	20#	4	Gray	
566113	8.5 x 11	20#	4	lvory	

EARTHCHOICE® OFFICE PAPER

Domtar

- Features ColorLok® Technology
- Guaranteed to perform on laser printers, desktop inkjet printers and copiers
- Forest Stewardship Council® (FSC®) certified
- Elemental Chlorine Free (ECF) virgin fiber content
- Made in USA and Canada



Product Code	Size (in)	Weight (lbs)	Sheet/case	Caliper (pts)	Brightness	Opacity	Certification
566079	8.5 x 11	20#	5,000	4	92	88	FSC



GO BOND MULTIPURPOSE PAPER

Pixelle

- Available in 20 lb.
- Available in all office sizes
- · Compatible with inkjet, copiers and laser printers
- . Made in the USA



Product Code	Size (in)	Weight (lbs)	Sheet/case	Caliper (pts)	Brightness	Opacity
566200	8.5 x 11	20#	5,000	4	92	88
566201	8.5 x 14	20#	5,000	4	92	88
566202	11 x 17	20#	2,500	4	92	88

EXCELONE CARBONLESS PAPER

Pixelle

- Heavier 21 lb. for enhanced runnability
- · Designed to run through offset and digital equipment
- · Deep, intense black image Image guaranteed through five plies
- · Excellent bulk, stiffness and tear and tensile strength
- Attractive blue-white shade



Product Code	Size (in)	Weight (lbs)	Caliper (pts)	Parts	Colour sequence
751001	8.5 x 11	21#	4.3	2 part	Canari/white
751003	8.5 x 11	21#	4.3	3 part	Pink/canary/white

PAPERONE COPIER - ENVIRONMENTAL PAPER

April

- Available in 20 lb.
- · Xerographic Laser monochrome and color printing
- 100% renewable fiber from PEFC certified plantations
- · Good thickness & Opacity
- Made in Indonesia





Product Code	Size (in)	Weight (lbs)	Sheet/case	Caliper (pts)	Brightness	Opacity	Certification
566195	8.5 x 11	20#	5,000	4.05	96	94	PEFC



SUGAR SHEET

Actus

- Manufactured using the residue waste of sugar cane helping to promote the preservation of global forests and vital ecosystems
- \bullet Measurably helps reduce deforestation, minimize harmful CO_2 emissions and reduce water use for the production of paper
- · Looks and performs just like traditional paper
- 99.9% jam-free design
- Fully recyclable, compostable and biodegradable
- Made in Columbia



Product Code	Size (in)	Weight (lbs)	Sheet/case	Caliper (pts)	Brightness	Opacity
421001	8.5 x 11	20#	5,000	3.8	92	90

BUSINESS LABELS

Spinnaker

- Laser printer compatible
- Shipping labels
- Address labels
- · Full sheet labels



Product Code	Size (in)	Label size (in)	Finish	Colour	Shape	Labels/page
597015	8.5 x 11	0.75	Smooth	White	Circle	12
597014	8.5 x 11	1	Smooth	White	Circle	63
597002	8.5 x 11	1.75 x 0.50	Smooth	White	Rectangle	80
597007	8.5 x 11	2.62 x 1	Smooth	White	Rectangle	30
507016	8.5 x 11	4 x 1.33	Smooth	White	Rectangle	14
597013	8.5 x 11	4 x 3.33	Smooth	White	Rectangle	6
597017	8.5 x 11	8.5 x 11	Smooth	White	Full Sheet	1
597026	8.5 x 11	8.5 x 11	Mat	White	Full Sheet	1
597021	8.5 x 11	8.5 x 11	Smooth	White	Full Sheet	1
597018	8.5 x 11	8.5 x 11	Smooth	Chartreuse	Full Sheet	1
597020	8.5 x 11	8.5 x 11	Smooth	Green	Full Sheet	1
597022	8.5 x 11	8.5 x 11	Smooth	Orange Fluo	Full Sheet	1
597025	8.5 x 11	8.5 x 11	Smooth	Yellow	Full Sheet	1
597024	8.5 x 11	8.5 x 11	Smooth	Red Fluo	Full Sheet	1



GENERIC COMMERCIAL ENVELOPES

- Laser printer compatible
- Available in white, natural, and brown
- Meets Canadian and U.S. postal standards
- Hassle free mailing with our proven great quality
- Manufactured in Canada

Product Code	Description	Size	Colour	Window	Opening	Env/box
762048	#9	3.88 x 8.88	White Wove	_	Open Side	12
762051	#9 White wove with window		White Wove	With Window	Open Side	500
762047	#10 White wove	4.13 x 9.5	White Wove	_	Open Side	500
762027	#10 White wove with window	4.13 x 9.6	White Wove	With Window	Open Side	500
762044	#10 White wove with Artline security	4.13 x 9.7	White Wove	With Artline Security	Open Side	500
762041	#10 White wove with Artline security with window	4.13 x 9.8	White wove	With Artline Security & Window	Open Side	500
762035	9 x 12 White wove	9 x 12	White wove	_	Open End	500
762004	9 x12 Recycled Kraft	9 x 12	Recycled Kraft	_	Open End	500
762028	10 x13 White wove	10 x 13	White wove	<u> </u>	Open End	500
762020	10 x13 Recycled Kraft	10 x 13	Recycled Kraft	_	Open End	500

Contact Imperial Dade Canada's Customer Experience Team to order

Western Canada
Vancouver/Calgary/Edmonton/Regina/Saskatoon/Winnipeg
cxsupplywest@imperialdade.com

1 800-661-8528

Central Canada
Toronto
cxsupplytoronto@imperialdade.com
1 800-463-3490

Eastern Canada
Ottawa/Montreal/Quebec/Moncton/St. John's
cxsupplyeast@imperialdade.com
1 800-361-7147

shop.imperialdadecanada.ca

<u></u> Domtar

Lettermark® Colors Multipurpose

Basis Weight	GSM	Smoothness	Caliper	PC Fiber
TEXT 17 x 22				
20	75	160	4.0	30%

Green	Blue
lvory	Canary
Orchid	Cream
Pink	Goldenrod
Salmon	Gray

NOTE: Color swatches are for representation only and may not be an exact match.

Features:

- 10 colors including cream and pastels
- Precision trimmed and consistent moisture content for excellent runnability
- Matches Lettermark® Colors Opaque Text & Cover, Index, Tag and Vellum Bristol for use in color-coordinated documents

Environmental Characteristics:



- Sustainable Forestry Initiative® (SFI®) Certified Sourcing
- · Contains 30% post-consumer recycled fiber
- · Made with Elemental Chlorine Free (ECF) virgin fiber content
- Manufactured under alkaline (acid-free) conditions for increased longevity and performance

Common Uses:

- · Business reports
- Manuals
- Newsletters
- Flyers
- Bulletins

Electronic Imaging Guarantee:



Lettermark® Colors cut-size items are guaranteed to run on laser and inkjet printers, copiers and plain paper fax machines within the limitations specified by the equipment manufacturer. The guarantee excludes issues related to form design, converting, post processing or equipment. Selection, handling and conditioning of digital papers consistent with equipment manufacturing recommendations is the responsibility of the end user. Domtar encourages testing of digital papers prior to purchase of large quantities. Samples are available by request.







Lettermark® Colors Multipurpose

				CAR	TONS	
Basis Weight	Size	M Weight	Sheets/ Ream	Sheets/ Carton	Cartons/ Pallet	Item Code #
BLUE - SMOOTH						
	₽ 8.5 x 11	10.00	500	5,000	40	94284
20	8.5 x 14	12.72	500	5,000	12	94286
	11 x 17	20.00	500	2,500	40	94287
CANARY - SMOOT	Н					
	₽ 8.5 x 11	10.00	500	5,000	40	94290
20	8.5 x 14	12.72	500	5,000	12	94292
	11 x 17	20.00	500	2,500	40	94293
CREAM - SMOOTH	l					
20	8.5 x 11	10.00	500	5,000	40	94296
GOLDENROD - SM	ООТН					
20	₽ 8.5 x 11	10.00	500	5,000	40	94299
GRAY - SMOOTH						
20	8.5 x 11	10.00	500	5,000	16	94302
GREEN - SMOOTH						
	₽ 8.5 x 11	10.00	500	5,000	40	94304
20	8.5 x 14	12.72	500	5,000	12	94306
	11 x 17	20.00	500	2,500	40	94307
IVORY - SMOOTH						
20	8.5 x 11	10.00	500	5,000	16	94308
ORCHID - SMOOTI	4					
20	8.5 x 11	10.00	500	5,000	16	94311
PINK - SMOOTH						
20	₽ 8.5 x 11	10.00	500	5,000	40	94314
SALMON - SMOOT	Н					
20	8.5 x 11	10.00	500	5,000	16	94318

₽: Full pallets only